MCR3U                Connecting Graphs and Equations of Trigonometric Functions

1.  The points (90(, 1) and (180(, 0) are on the curve 
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d) 
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2.  Write an equation for each of the following:

a)  The graph of 
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is shifted to the right by 90( and down 2 units.

b)  The graph of 
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is shifted to the left by 120( and up 1 unit.

3.  Sketch each of the following graphs by applying transformations to the graph of[image: image8.wmf]x
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.  State the amplitude, period, phase shift, axis of the curve, domain and range of the transformed functions.
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b)  
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c) 
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d) 
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4.  Write an equation in the form 
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 for each of the following:
a)  A sinusoidal function with an amplitude of 2 units, a period of 180(, and a maximum at (0, 3).  

b)  A sinusoidal function with an axis of curve of
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, an amplitude of 1 unit, a period of 90(
5.  Write two equivalent equations in the form 
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 for each of the following:

	a)
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	b) 
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6.  a)  Explain how the graphs of[image: image18.wmf]x
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are alike and different.

b)  Rewrite 
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 as a cosine function.

c)  Rewrite 
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 as a sine function.

7.  The equation of a sine function can be expressed in the form 
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.  Describe what you know about a, k, d, and c for each of the following statements to be true.

a)  The period is greater than 360(
b)  The amplitude is less than one unit

c)  The graph passes through the origin

d)  The graph has no x-intercepts
8.  Sketch the graph of 
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Answers:

1.  a) (90(, 3) and (180(, 0)  b) (90(, 2) and (180(, 1)  c) (0(, 1) and (90(, 0)  d) (45(, 1) and (90(, 0)

2.  a) 
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	3. a)
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	3. b)
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	3. c) 
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	3. d)
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4. a) 
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5.  a) 
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6.  a) same period; same amplitude; phase shift of 90(; different x and y intercepts b) 
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7. a) k < 1 b) –1 < a < 1 c) many different possibilities. Eg. If sin, then b = 0 or b = half period or b = full period. If cos, then b = quarter period, or three quarter periods. Other options as well
 d) If c is positive, then 
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8.  
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